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GE1-P2-ECONOMICS
Full Marks: 60

The figures in the margin indicate full marks.

The question paper contains paper GE-2A, GE-2B and GE-2C.
The candidates are required to answer any one from three courses.
Candidates should mention it clearly on the Answer Book.
GE-2A
MACROECONOMICS

GROUP-A / Retot-3 / A e-Dd

Answer any four questions from the following: 3x4=12

oA TP BIAfG Avsa Te wies
frTferRad 1 FTvaeT TR ITR fATer —

(a) What is demand-pull inflation? 3

oifen! Jfeeiae JErFife FeTce [ @R 2
AT IRE JEREhIfT F1epT b &Y 2

(b) Explain the concept of ‘Deflation’. 3

@I IR QRS P

(c) What do you mean by multiplier? 3

‘@61 FETC0 R 2
UTe FICT < (3D ?

(d) What is liquidity trap? 3

“oiFey Tw F 9
R STIeT YiehT & BT ?

(e) What are the characteristics of consumption function? 3

Cets Sreirrd (g el &5 o
ST B! LT & & &1, 2

(f) What is the relationship between marginal propensity to consume (MPC) and 3

autonomous investment multiplier?
2 (otot eRerst (MPC) 8 g RN (1) 5 & 71 aee ¢
ST HHTT HgRT S TR 9T TorepHTsieT Geawel < &l ?
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GROUP-B / fiei-4 / wg-a

Answer any four questions 6x4 =24
T-(FI BIFf6 &0He Ted wie
P TR FHEHD! IR e,
2. Discuss the circular flow of income in a two sector economy. 6

ufo v R S S-S 38 @IS Gel SEne 591
38 & STefeeRreITT STTIeh! <ishial ST =t e |

3. State and explain Say’s law of market. 6
@1°F (Say’s) Jeia &G 19 @2 i 41
- IR I F=IeIR, T AT e |

4. What are the difficulties of measuring national income? 6

o o AR sfdief & R g
IR 3T TUTRT BHSATSE b b & 2

5. What are the assumptions of the classical theory of rate of interest? 6

IR &I ored S xS & [ o
TS ST AT RAgTTep! YRUTERD hich §T 2

6. (a) Distinguish between average propensity to consume (APC) and marginal 3+3
propensity to consume (MPC).

51T (Sl @eel (APC) 3 elifeF (819 eRere™ (MPC) Wi g 341
ST ST HgRTW(ARC) T ITFTe! HHT ¥R (MPC)-ATsie! f=iar
qASTERL |
(b) Show that MPC + MPS =1.
@8 @, MPC + MPS =1.

MPC +MPS = | §8 9! SEFTE |

7..(a). What are the causes of inflation? 3+3

Tareifes sRdel & &
ERITIeRT HRUES b & & ?

(b) Give some anti-inflationary measures.
R e fog IR Srad 741
e TR R SuEs e |
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GROUP-C / freti-al / srg-

Answer any fwo questions 12x2 =24
@-FF 515 ot Tea we
P GTICT THEHDT ST RATE
8. (a) Explain the concept of national income accounting in an open economy. 4+8

& SLRGIER SO o #AfRaCea «i=efS e 41

P! Gl ST RIS 3R TOHTET STTERON ST TRl |
(b) What are the components of a balance of payments account?

VT SF (TTB GG A G ©78 ted Somiaaf & =5 ¢

YT FeT TP TCHED P P 1 2

9. Explain how equilibrium output and employment are determined under classical 12
theory.

FPRIE A it ©rg e SR Serivs ¢ ft i = ot wiesal =1
AT FIGT IR Afefd I<uterT 3 ISHIRY et FiRer TRS =1 @

TR

10. Critically examine Cambridge Version of quantity theory of money. 12
HAACEABITR Sl ~Afaivreres e e Lt
ST AT RAGTIehT FTIESTol TRPRUTHT TR GBI, |

11.(a) Discuss income census method of measuring national income. 8+4

SIS S~ S R AR St )
TSGR 31T TUITERT 3T SFRIURT e =i e |

(b) How is this method different from other methods of measuring national income?

GO S 2AfsCota Sie) Aafos (A 92 mfors Feia 7= T4l T 9
T Ty et 1S 3T T0HTenT 37 fAftiEs et gerdh © 7

GE-2B
INDIAN ECONOMY-II

GROUP-A / f@eit-3 / Hqg-d

8 Answer any four questions: 3x4=12
- 51AT0 v Tea mies
P FIRGET THEHD! IR e —

(a) Distinguish between small scale and cottage industries. 3

Ty ¢ Fo Mesm oy Ay 91
g I A PR FTHTSH P11 ARSI |

6031 3 Turn Over



UG/CBCS/B.A./B.Sc./Programme/6th Sem./Economics/ECONPGE2/2024

(b) What are components of money supply?

SR QIR Stiwiafe & & o
73T RIPT Eedhes & o § ?

(c) What do you mean by industrial dispute?

‘P Rty e B @9
3MeNfiep faae st & s 2

(d) Discuss any two social security measures adopted by the government of India.

TR FIPI RIS (F-(F I {6 AN oI2f@ers 7 7010 Seensa 791
IR IRPRGIRT ATV Pt AT ATAIID GRETHT SUTIE® et TE |

(e) Mention any two features of Indian capital market.

6031

SIR0SF T @I (F-CpIe 70 (IMTy (772 |
IReIr Joft SoRenT P+ gEaeT fdvaTes Seorg THER |

(f) Why RBI is known as ‘lender of last resort’ of commercial banks?

e e 1w (RBI) AT el o iwes semier 367 259
foheT STRETSTTE-TTE OISy Saireme ‘J1feaT SUTTH! SAURET SRR 2

GROUP-B / A« / i@
Answer any four questions
-1 BIAG & Tea wie
P FIREET THEHD! SR REEN

Discuss the broad objectives of Indian planning.

S0od 2RI sifiTEmiz 2t SrraE s F9)
IRT Y FISHTEDT FRITDAT JeTE% BeTthet THEN |

Narrate the problems of India’s small scale industries.

SRS FUMICH AP < 91
WIRTTh! &g SENTHI FEATE® Ui THENT |

Describe various components of money supply in relation to RBI’s monetary
policy.

& g (RBI) ifde Tifsa e smiffe weda q@iiitr Rfom Sotmimaf i
FCAGB TR

SRS o ArepT e To1 geffent R T uie ey

Discuss briefly the volume and direction of India’s foreign trade during the post-
liberalisation period.

TRIRRe SHRSIRICe ©IRTed (A e #ifie @ SR T e S

Rl
SERTRUESeT S RHT TReebT e TRHT AT S e SR wim Tt e |

6x4 =24
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6.

10.(a)

‘Balance of payments is always in balance’ — Justify this statement. 6

TIETST O (0TS IR SR A — 4iettlba (et rort w1
YR AT G Frqferd §8 — A HeTers Afe Rig ey |

Write a short note on: Open Market Operation. 6
(RIS PIFaR FooleE TR Bil (7|
GodT IR Farer-areft efer vl e |

GROUP-C / Reti-at / weyg-T

Answer any two questions from the following 12x2 =24
Q- 70 e Tea wie
frriferRae g gdaer wawm@! STR e
Briefly discuss the role of cottage and small scale industries in India’s economic 12

development.

Olared ST Sraee FY @ Fba Fea i *ficn w1
TR AT e o7 S PR FenTeaen! Yfirep] Afdan = Ter |

Discuss briefly the achievements and failures of Five Year Plans in India. 12
SIRCSH AR sz Mwey ¢ ol FKEFCH wcendal 41
HRTHT U5TE T JISHTDT JucTeteRa 3 SRAherTess ARMEHT Beithel THe |

Examine the causes of industrial disputes in India. 8+4
oRTed e Riaies FRefer sifitans <=1
IR e fdiae! SRUEw TSI |

(b) What are the remedies to'overcome such disputes?

11.(a)

fore ey Meaie s o eifSfaans aizel a1 caes A 9
I fAaTee s FHTET T SUTIE™ & & & ?

Discuss briefly the monetary policy of RBIL 4+8
e ieE (RBI) SfdE TS FREwC! Sicets= 32
STRETSTTS-epr HHfsrep ey TR =it Ta R |

(b) What are the main functions of RBI? — Explain.

6031

RBI-&3 &1 erafe f& & ¢ — i 341
STREN3TTS-T &4 fepaTeRs & & g 2 TS ey |
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GE-2C
PUBLIC FINANCE

GROUP-A / Retol-% / wvg-o

L. Answer any four questions from the following: 3x4=12

Q- BIATs 2iaw e ies
f=ferRae g arvarer TRy ST frEg —

(a) What do you mean by Pareto Optimality? 3
SO SABRITS’ Forte 6 i o
‘TRET FETHAT Tl % RS 2

(b) What are the public provisions of social goods? 3
s TR (Social goods) FRSIA Rl & &5 o
AT e I FIaET &% & % &7 2

(¢) What do you understand by public debt? 3
FEIR A 0 1 @R 9
ST {+1eh 3RUT =TTt & 7S 2

(d) What is the importance of local finance? 3
“Bifw S (@RI PiR)-aq @wy & 9
I ferxTept Faeq & & 2

(e) What is market failure? 3
‘Market failure’ & 9
IR fThetlr o &l 2

(f) What do you mean by proportional taxation? 3

ANAATOF T4 ST 700 .l 9
AT R FTTel & 6 2

GROUP-B / -4/ wg-@

Answer any four questions from the following 6x4 =24
-3 B1A1G 2T Tea wie
Fereiferfee P Frvaer marEweT TR Ry
2 Discuss the requirements of a good tax structure. 6
BT 31 T T PR SHIeAT! S 9|
3R R ARTIDT STTIRAGATES T2t THE N |
3. Establish the relationship between public goods and externality. 6

ANES @ (Public goods) €] externality-&9 S I fiolel 51
ST g AT SIS Famy TR TR |
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4.

10.

11,

6031

Briefly explain the burden of public debt. 6
STRPIA A0 QIR IS IR RS 41
SAISSTHE SRURPT AR BICHRIT AT T |

Discuss the nature of fiscal federalism. 6
TREIRITIET (FOITHITTR &TS SNG4
farcfer wefarerent vepfcr <t e |

To what extent existence of externality is responsible for market failure? 6

< SER ‘Externality’ MRS FEHET-GF 8947 eoid e 3G 9
IR fATheAeTET STRIeTTeT 3TR<cd P saaT RFNaR & ?

Briefly discuss the issues related to India’s public finance. 6
SRS (AR TR TRl wF-33 A k@S [fon Ranals wiepai s
TR AT b o Trame Jares Blca™ T oo THaT |

GROUP-C / feti-4t / ¥g-1

Answer any two questions from the following 12x2 =24
T-( 715 e Teq nie
freaferfea g+ ggaer TaEwa) ST e
Discuss critically the equal-sacrifice principle of taxation. What are its 8+4

weaknesses?

FANCEACAPTR I Tw-afenicas K& (Equal-sacrifice principle) SNGD F1 @3
Rft oot B B ¢

IR FHH ST RigHT T IIce T Fraf THENT, | JhT dieiEs & o & 2

Does internal public debt create any burden on the community? Give reasons in 12
favour of your arguments.

TreEd TR 3¢ 6 e 87 @RIF 3 A0 A 9 (O TeEd FACE I
w8l

& IR A TD SHTeT TIIRMT ST GO Te5 2 AT qehedl & PRUEH
RgeN

Write a note on fiscal federalism in India. 12
©ICes ‘e @elfieen’ (Fiscal federalism) @91 @17 1 fEre Bt (774

TR faier Seftgamrel feouft seger |

Examine critically the current issues of India’s tax system. 12

STACFIGTINR SIS T PO beite Ranafer 7o oHfceva 11
WIRTIDT DR HUTCAIeD] G JETe® T reIeHe ST FiTd TR |
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